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#include <stdio.h> /* pEASF math.h © */
double dydx(double x, double y);
void output(double x, double y);
int mainCvoid) {
int i, n = 100; /* #&DRLEHK */
double x = 0.0, y = 0.0; /* FHiE */
double dx = 0.01; /* ZIE */
double dy;
output(x, y);
for (i=0; i<n; i++) {
dy = dydx(x, y)*dx;
X = X + dx;
y =y +dy;
output(x, y);

return 0;
}
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double dydx(double x, double y) {
return (1.0 - y);

}

void output(double x, double y) {
double €@ = 1.0; /* E=1.0[V] */
double t@ = @0.1; /* tau=0.1[ms] */
printf ("%f %f\n", x*t0, y*e0d);
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#include <stdio.h> /* BERSE math.h © */
double dydx(double x, double y);
void output(double x, double y);
int main(void) {
int i, n = 100; /% &R LEH */
double x = 0.0, y = 0.0; /* ZHAE */
double dx = 0.01; /* ZIH&IE */
double dyl, dy2;
output(x, y);
for (i=0; i<n; i++) {
dyl = dydx(x, y)*dx;
dy2 = dydx(x + dx, y + dyl)*dx;
X = X + dx;
y =y + (dyl + dy2)/2.0;
output(x, y);
}

return 0;
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int main(void) {
int i, n = 100; /* #&DRUE% */
double x = 0.0, y = 0.0; /* FHE */
double dx = 0.01; /* ZHE */
double dyl, dy2, dy3, dy4;
output(x, y);
for (i=0; i<n; i++) {

dyl = dydx(x, y)*dx;
dy2 = dydx(x + dx/2., y + dyl/2.)*dx;
dy3 = dydx(x + dx/2., y + dy2/2.)*dx;
dy4 = dydx(x + dx, y + dy3)*dx;
X = X + dx;
y =y + (dyl + 2.0*(dy2 + dy3) + dy4)/6.0;
output(x, y);

}

return 0;

}
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#include <stdio.h> /* RERSE math.h
double dydx(double x, double y, double z);
double dzdx(double x, double y, double z);
void output(double x, double y, double z);
int main(void) {
int i, n = 100; /* BORLEH */
double x = 0.0, y = 0.0, z = 0.0; /* B
double dx = 0.01;  /* g */
double dy, dz;
output(x, y, z);
for (i=0; i<n; i++) {
dy = dydx(x, y, z)*dx;
dz = dzdx(x, y, z)*dx;
X = X + dx;
y =y +dy;
z =z + dz;
output(x, y, z);
}

return 0;
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double dydx(double x, double y, double z) {
return z;

}
double dzdx(double x, double y, double z) {
return (1.0 - 2.0*z - y);
}
void output(double x, double y, double z) {
double EQ = 5.0; /* V */
double 10 = 50.0; /* mA */
double T1 = 0.01; /* ms */
printf ("%f %f %f\n", Ti*x, EQ*y, 10*z);
}
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dyl = dydx(x, y, z)*dx;

dzl = dzdx(x, y, z)*dx;

dy2 = dydx(x + dx/2., y + dyl/2., z +dz1/2.)*dx;

dz2 = dzdx(x + dx/2., y + dyl/2., z +dz1/2.)*dx;

dy3 = dydx(x + dx/2., y + dy2/2., z + dz2/2.)*dx;
dz3 = dzdx(x + dx/2., y + dy2/2., z + dz2/2.)*dx;
dy4 = dydx(x + dx, y + dy3, z + dz3)*dx;

dz4 = dzdx(x + dx, y + dy3, z + dz3)*dx;

X = X + dx;

y =y + (dyl + 2.0*(dy2 + dy3) + dy4)/6.0;

z =2z + (dzl + 2.0*(dz2 + dz3) + dz4)/6.0;
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#include <stdio.h>
#include <math.h>

double dydx(double x, double y, double z);
%E}Ufifﬁj& double dzdx(double x, double y, double z);

int main(void) {
int i, n = 100;
double x = 0.0, y = 0.0, z = 0.0;
double dx = 0.01;
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printf("%f %f %f\n", x, y, z);
double dydx(double x, double y, double z) { for (i=0; i<n; i++) {
return z; dy = dydx(x, y, z)*dx;
ks dz = dzdx(x, y, z)*dx;
double dzdx(double x, double y, double z) { X = X + dx;
double ret; y =y + dy;
ret = 1.0 - 2.0%z - vy; z =z + dz;
) return ret; printf("%f %f %f\n", x, y, z);
%
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dOUble dyl, dy2, le, dZZ; dOuble 'dlyl, dyz, d?'/3, dy4, dz?., dZZ, dZ3, dZ4;
. " " . printf("%f %f %f\n", x, y, z);
prlntf( %f.%F %f\n y X5 Y, 2); for (i=0; i<n; i++) {
for (i=0; i<n; i++) { dyl = dydx(x, y, z)*dx;
dyl = dydx(x, y, z)*dx; dzl = dzdx(x, y, z)*dx;
dzl = dzdx(x, Y, z)*dx; dy2 = dydx(x + dx/2., y + dyl/2., z +dz1/2.)*dx;
dy2 = dydx(x + dx, y + dyl, z +dzl)*dx; dz2 = dzdx(x + dx/2., y + dyl/2., z +dz1/2.)*dx;
422 = dzdx(x + dx’ + d 1’ 5 +dzl)*dxz dy3 = dydx(x + dx/2., y + dy2/2., z + dz2/2.)*dx;
B ) » Y Yl ’ dz3 = dzdx(x + dx/2., y + dy2/2., z + dz2/2.)*dx;
X = x + dx; dy4 = dydx(x + dx, y + dy3, z + dz3)*dx;
y =y + (dyl + dy2)/2.0; dz4 = dzdx(x + dx, y + dy3, z + dz3)*dx;
z =z + (dz1l + dz2)/2.0; X = x + dx;
printf("%f %f %f\n", x, y, z); y =y + (dyl + 2.0*(dy2 + dy3) + dy4)/6.0;
1 z =2z + (dzl + 2.0*(dz2 + dz3) + dz4)/6.0;

printf("%f %f %f\n", x, y, z);



